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. What 15 a [,,;7 “g'pg.l_l ) Ve

tearmworh’/
(/.) Working

showcase j,,,lj‘/;rlll" f
jeation andd gy

(B Clear commin
ELleal Feh jombery,

yr,‘",pl;r,l Aoy fearmn 11 TR
(C) Avoiding sharing l’l"';""” ity
personal credit,
(1) lTgnoring the
others,

( ,,””il)”“”“ﬁ 0

2. Why is active listening important gy

conflict resolution? X

(A) It prolongs conflicts by BVing
attention to different y)‘if"'l"5“'iV(!'7.

(B) At helps in understanding the
concerns and viewpoints 0f af|
parties involved,

(C) It is not relevant to conflict
resolution,

(D) It only benefits one party ina
conflict.

3. Ifall roses are flowers and some flowers
fade quickly, can it be logically concluded

that some roses fade quicl%v?
(A) Yes R
(B) No @
W(CyMaybe N

(D) Notenough information

_ .9 945 4
4. fxymlctc the serics: 2, 5,10, 17,7
W L&T 26

(B) 30
(C) 33
(D) 37

5. IfA=1,B=2,C=3, andso on, what is

the value of CAT?
(A) 36

(B/‘)
\(C 24
(D) 21

MSP-21/2/C

h, Lo e Jags of 40 slpede it PALT IMath,

, o ot oy
1 Jike totenes and 0 Jike D h. How

meny shudents ik clthier Math o

Loy’ o D)
Ly 24 ol
(1) 14 ‘('\;/9 ")
(C) 30

() 172

7. ”‘:Vt:ry«h,plm.-:nlnilinmll'ulnu;:‘uh,yﬂ
(yatt Viddoy b (a7
1

)
()

can we conelnde
\(A) Y

(3) Mo

(C) Maybe

(13)  Not enatgh information

B What comes next in the series |
3,06,9, 17

(A) 14
\B) 16
(C) 18
() 21

9. I allapples are fruits and some fruits are
red, can we conclude that some apples

are red? f
(A) Yes <?%£§
(B) No o

Wleyl)c

(1D) Not enough information

If MANGO' is coded as 98562, how
would you code ORANGIE?

(A) 812345

(B) 194763

(C) 491276

(D) 479261
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11. Ifsome cats are black and all black things

i .t in the series
are beautiful, can we conclude that some 16, What comes next

~O

cats are beautiful? 0 10, 20. 30
A Yes \ay—50
(B) No ?é; 28
(C) Maybe er D) 80
D) Notenoughi i .
(D) Notenough information 17, If some books are red and all red things
are hcavys can We conclude that some

12. What is the next number in the series: books are heavy? 5 S H
1,4,9,16.2 \qayves )

,(A/)z/a B) No

A C) Maybe
B) 36 ( : .
Not enough information
(C) 49 2 -
(D) 64 18. Yoy are the manager of a team working
on a critical project. One of your tf.:am
) . members consistently misses deadlines
13. Ifall birds can fly and Tweety is a bird, and does not communicate effectively.
can we conclude that Tweety can fly? What would be your first step in
M (i addressing this issue?
(B) No (A) Assign more tasks to the team
C) Mavb member.
(€)- Nagbe ' _ W&i one-on-one meeting with
(D) Notenough information the team member to discuss the
iSSue.
14. Which word does not belong in the ©) Ignolre ﬂ?f pl;oblem and hope it
followi 9 resolves itself.
otlowing grofip (D) - Replace the team member with
Apple, Banana, Orange, Mango, Pear B icone else.
\(A)Banana
(B) Mango 19. Youaretryingto choose.between two job
c) P offers. Job A offers a higher salary, but
(C) Pear longer working hours. Job B offers a
(D) Orange lower salary, but a better work-life
balance. What is the best approach to
making this decision?

15. If5+3=28,9+1=810and8+6=214,
(A) Choose Job A for the higher salary.

what is 7+ 5?

p (B) Choose Job B for the better work-
(A) 5 life balance.
(B) 1210 (C) Flip acoin to decide.

\(Q/Z 12 \(Q/Eis'c’t’he pros and cons of each job
(D) 612 and weigh them against your
priorities.

3 [P.T.O.
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20, You have a tight deadline 0 OMplete o

project, but vou're facimy “‘\‘hni\‘:\l
ditficultios, What should you do fiese?
(V) Panic and try to sh through ghe
project.

;\R\ Seek help from a colleague op

SuUpervisor,

() lanore the diftieulties and hope for
the best.

(D)

Giveup on the project.

You are a team leader and you have to
assign tasks for a new project. One of
your team members has a strong
background in data analysis, while another
is skilled in graphic design. Which task
‘ would you assign to each team member?
~(A) Assign data analysis to the team
member with a background in data
analysis, and graphic design to the
other.

(B) Assign graphic design to the team
member with a background in data
analysis, and data analysis to the
other.

(©)

Let the team members choose
their tasks.

(D) Assign both tasks randomly.

22. You are facing a complex problem at

work and need to come up with a solution.
What is the first step you should take?

(A) Startimplementing a solution right
away.

@Anzﬂyié the problem to understand
its root cause.

(C) Ask your colleagues for their
opinions.

(D) Ignore the problem and hope it
goes away.

MSP-212/C

A\

\

\

s \(x > )

Statement 13 (x\2+ 30)

Qatement 2 3 (x> 10),

(.'\) Statement 1 alone 18 Slln:l\‘icm
(B)  Statement 2 alone N sut‘ngicm
() Both statements together are
suflicient
Neither
suflicient

statement alone g

(D)

\l
Is the triangle (ABC) an equilateral

triangle? A
Statement 1 (AB=AC) .
Sratement 2 : (BC =3) cm 268
(A) “Statement 1 alone is suflicient
(B)  Statement 2 alone is sufficient
(C) Both statements together are
sufficient
(D) Neither statement alone is
sufficient

Qs. / Is(p>q)?

Statement 1 : (p-q>0)

Statement 2 : (pq > 0)

(A)  Statement 1 alone is sufficient
(B) Statement 2 alone is sufficient

(C) Both statements together are
sufficient

Neither statement alone is
sufficient

(D)

26. Is/(n) aneven number?

atement 1 : (n"2) is an even number
tatement 2 : (n+ 2) is an even number
(A) Statement 1 alone is sufficient
(B) Statement 2 alone is sufficient
(C) Both statements together are
sufficient

Neither statement alone is
sufficient

(D)
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27. Which word does not belong in the
following group?
Square, Circle, Rectangle, Triangle, Oval
(A) Square
L®)Circle
(C) Rectangle
(D) Triangle

28. If6x2=24,8x3=48and 12 x5=60,
what is 10 x 4?
A) 30
\®) 40
(C) 50
(D) 60

29. What comes next in the series :
2,4,8,16,?
(A) 24
By 32
(C) 48
(D) 64

30. Ifall cats have tails and Fluffy is a cat,
can we conclude that Fluffy has a tail?

\@y-ves @T

(B) No
(C) Maybe
(D) Not enough information

31. Which word does not belong in the
following group?

Piano, Guitar, Violin, Drum, Paintbrush
(A) Piano
(B) Guitar

(C) Drum
Paintbrush

MSP-21/2/C

32

33,

34,

3s.

36.

@

- o~ l')
omplet the series : J, 10, 20, 40, ?

@A) 60
80

(C) 100

D) 120

Which word does not belong in the
following group?
Mars, Venus, Jupiter, Saturn, Sun.
(A) Mars
(B) Venus -
un
(D) Satum

Which of the following words is an

antonym of “Benevolent™?
g
ruel

(B) Kind

(C) ~Generous

(D) Altruistic

Which word does not belong in the
following group?

Lion, Elephant, Tiger, Snake, Banana
(A) Lion

(B) Elephant

(C) Tiger

D)

ana

If P is the mother of Q and Q is the
brother of R, what is the relationship
between P and R?

(A) Auntand nephew

(B) Mother and son

[(C)—iother and daughter

(D) Sister and brother
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37.

39.

T\

NN

Sonia takes 18 nnnll“‘“h e {)‘“’l hk
12 minutes to complet€ 0“; ll(lllmd e
circular path of sports 'Lhm ;Q;V Slart
atthe same point nndlm.lk ol : "? the
same direction. They will e ARain g
the starting point after ——
minutes

(A) 24

(B) 36

(C) 48

(D) 54

Ifwe add 1 to numerator and subtragy |
from denominator, a fraction reduces

I :
to 1. It becomes = if weonly add | o

the denominator. The fraction is ;

A) -
(4 1
®) 2
9

\ B
o2
o,

2

(D) =
J

The ratio of income of two persons is
9:7 and the ratio of the expenditures
is 4:3. If each of them manages to save
<2.000 per month, then the monthly
incomes of two persons are
respectively :

(A) T4.500and ¥ 3.500

(B) <9.000 and ¥ 7,000

(C) T 13.500and T 10,500

(D) 18,000 and T 14,000

MSP-21/2/C

40,

41.

—

M)/?.O years

\um of arcas of (W0 SqUATes is 468 2
If the difference of their perimeters ; )
24 m then the sides of tWO Squares gpe.

(A) 12mand6m

(B)
(€)
(D)

18mand 12 m
24mand I8 m

30 mand 24 m

Five years ago Ram was thrice as old as
Shyam. Ten years later, Ram will be twice
as-old as Shyam. The present age of

Shyam s :
(O P
wo 3%

) (1 _5) = 3(/~5)

s@% 10) = %y

.,\vl[):zf)‘)?
L 3 5y

(B) 25 years
(C) 30 years
(D) 35 years

4
(42 ) The sum of the first 20 pO'Y\llVC integers

divisible by 6 is :
(A) 1200
(B) 1260
(C) 1320
(D) 1380

ow many two digit numbers are
divisible by 3?

(A) 33
(B) 32
(C) 30
(D) 29

(% scanned with OKEN Scanner
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W cone of height 24 cm and radius of base
6 c¢m is made up of modelling clay. A

child reshapes it in the form ofa sphere.
The Diameter of the sphere in ¢cm is :

(A) 6
(B) 8
(©) 10
(D) 12

-~

9" x 27712

\_3”6 37 is equal to

@) 3
®) 3"
(€); 388
D) 3

46. The greatest numbers among 3'%, 27%,
91% and 81% s :

(A) 3 198
(B) 27
\c)g0

(D) 814

112
9370

114
2

47. The perimeter of one face of cube is
40 cm, then sum of lengths of its all
edges is :
(A) 80cm
(B) 120 cm
(C) 160 cm

(D) 240 cm

MSP-21/2/C

1.

L I ,

(% scanned with OKEN Scanner

If /2" =1024, then 32(74] is equal to

W

(A)
(B)
(©)
D)

27

In a flower bed, there are 53 rose plants
in the first row, 51 in the second, 49 in
the third and so on. If there are 5 rose in
the last row, then number of rows in the
flower bed are :

(A) 23
(B) 24
(C) 25
D) 26
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